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®  %fic RS232. RS485. USB #2110, #xfc PLC 21
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CS9922M

AC/DC/IR

0.050kV ~ 5.000kV

t (2%IEE+5Y)

v

1000VA (5.000kV/200mA)

200mA

0~ 199.9mA,0=F#Ii7 R

200uA, 2mA, 20mA. 200mA

IE5XR

2% (ZHEAEEMERE)

1.3~1.5

DDS+Ihi

0, 0.35~999.9s 0=FBJF LFAtAER

0, 0.35~999.9s O=yZE&zM,

0, 0.35s~999.9s O=FBETFERTEIX

0.0s~999.9s O=[EfEATEIX

N#&ER. GHEx

0.050kV ~ 6.000kV

+ (2%IEE+5V)

v

60W (6.000kV/10mA)

10mA

2uA, 20uA. 200uA. 2mA. 10mA

<5% (6kV/10mA)

<200ms

10mA

0, 0.35s~999.9s O=H/E LFAIEX

0, 0.35~999.9s O=yE&zM,

0, 0.35~999.9s 0=FBJF FEEAY AR

0.0s~999.9s O=[EfRAT AR

0.0s~999.9s 0=3ERHREERT AR

Nz, GH&RI{

0.050kV ~ 1.000kV

t (2%IEE+5V)

v

9999MQ

9999MQ
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1™MQ

0, 0.35s~999.9s O=H/E LFATEX

0, 0.35~999.9s 0=3ZELEM

0.0s~999.9s O=[EfRRT AR

ARENF. X

<200ms

0.050kV ~ 6.000kV

+ (2%IEE+5V)

1V
HWIHRME
0 ~ 200mA
0 ~ 10mA

200uA #: 0.1TuA, 2mA#: TuA, 20mA£: 10uA , 200mA #: 100uA

2uA £ 0.001uA,

22mA 3+ (2%+50F) , <2mA Az (3%+51F)

MR R B RORIEB R AT AR 2=

GND #&z{: RETURN #1575

TMQ ~ 9999MQ

1MQ ~9.999MQ:0.001MQ, 10MQ ~ 99.99MQ:0.01MQ,

0.100kV ~ 0.200kV:1MQ ~ 999MQ 5%, 1000MQ~3000MQ £10%

0~999.9s

0.1s

+ (0.1%+50ms)




